TH6EE B AR MR R E R K

KFEERRE AT
1EAE S| 1 s 1 IRZBRR | IRERE | 1 AR 2 kselpttk | 2 IRZBRER| 2 ke E ik | 2 IRE R R [ atn/ 1 vozmn
B 20 15 75. 0% 13 86. 7% 11 84. 6% 7 63. 6% 46. 7%
1 19 13 68. 4% 10 76. 9% 10 100. 0% 10 100. 0% 76. 9%
it 39 28 71. 8% 23 82. 1% 21 91. 3% 17 81. 0% 60. 7%
KFEERE 1K
LRHGABS | 1 REZHE | 1 RSECR | LREHE S 1 IREHER | 2 B | 2 IRSEBRR | 2 A ELK | 2 IREHR R et/ 1 nzths
B 2 2 100. 0% 2 100. 0% 2 100. 0% 2 100. 0%|  100. 0%
s 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
it 2 2 | 100.0% 2 | 100.0% 2 | 100. 0% 2 | 100.0% 100.0%
AR AR TR REESA
Liag s L Bk ] L kg BRE Ik ek a1 kEKE] 2 wmnak] 2 ki BRE] 2 ikt ] 2 Ak R [amn 1 naws
Pzl 8 6 75. 0% 4 66. 7% 4 100. 0% 1 25. 0% 16. 7%
4 5 2 40. 0% 2 100. 0% 1 50. 0% 1 100. 0% 50. 0%
it 13 8 61. 5% 6 75. 0% 5 83. 3% 2 40. 0% 25. 0%
AR AR TR RSB
Lia g ] L Rk ] L kg BRE ke E ] 1 kREKE] 2 emmhak] 2 ki BRE] 2 ikt ] 2 Ak R [amn 1 nawes
B 1 1 100. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
oS 1 1 100. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
gl 2 2 100. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
R =Y R (=1%]
1A e 1 os oIk A E ] 1 ek R 2 wasek] 2 oz BoR] 2 wakk gk ] 2 Ak R ewe 1 nans
B 18 17 94. 4% 8 47. 1% 7 87. 5% 4 57. 1% 23. 5%
s 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
gl 18 17 94. 4% 8 47. 1% 7 87. 5% 4 57. 1% 23. 5%

B BRI
1wz 2okt PRE R 1 wmss/mnE K
2.1 6 2.5
1.3 8 1.6
1.6 14 2.0
Al B
1w/ 2okt ERE R 1 wmsE/mn K
1.0 1 2.0
0.0 0 0.0
1.0 1 2.0
AR bR
1wz 2 wakt EEE R 1 wmsE/mm K
6.0 1 6.0
2.0 0 0.0
4.0 1 8.0
AR bR
1w/ 2okt ERE R 1 wmsE/mm K
0.0 0 0.0
0.0 0 0.0
0.0 0 0.0
AR BRI
LRESRE/ 2kakE PRIE R 1 wmsE/maEK
4.3 3 5.7
0.0 0 0.0
4.3 3 5.7



G ETR R E 1
LA g ] L kEBRE ] L R Rk ek ] 1 RERE] 2 nzha k] 2 kR BRE] 2 itk itk ] 2 IRA R R [ame 1 naws
B 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
s 10 10 100. 0% 9 90. 0% 9 100. 0% 7 77. 8% 70. 0%
it 10 10 100. 0% 9 90. 0% 9 100. 0% 7 77. 8% 70. 0%
GRS OO ET  CRAERD
LA g ] L kERER ] L R Rk ek ] 1 RERE] 2 e k] 2 kR BRE] 2 itk itk ] 2 IRA kR [amn 1 naws
B 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
s 4 3 75. 0% 3 100. 0% 3 100. 0% 3 100. 0%~ 100. 0%
g 4 3 75. 0% 3 100. 0% 3 100. 0% 3 100. 0% 100. 0%
S R A Ay (e |
LR HAEH ) 1 REZBRE S 1 IRSEIRR | UREHHE S| 1 RO R 2 BB | 2 IR | 2 KB | 2 IREBER | avissr/ 1 sz
Pzl 2 2 100. 0% 2 100. 0% 2 100. 0% 2 100. 0% 100. 0%
4 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
g 2 2 100. 0% 2 100. 0% 2 100. 0% 2 100. 0%]  100. 0%
GRS TR EEM B
LA E S | Loz 1 Bk ek i 1 ka2 ranEk] 2 KRR 2 kaks k] 2 Ak R [ams 1 nzns
Pzl 1 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
S 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
g 1 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
GRS OO ETIR  BOPERD
LRHUASEM | L REBREE 1 IR BR | IREHEER | 1 IREH | 2 REBRE | 2 IR BE| 2 REKHE K| 2 IREAE S | ah/ 1 wzns
B 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
S 1 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
g 1 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%

s BRRfE#
1/ 2 okt ERE R L wmmeE/mnE

0.0 0 0.0

1.4 6 1.7

1.4 6 1.7
ARERER PR
1k 2 okt ERE R L wmmeE/mnE K

0.0 0 0.0

1.0 3 1.0

1.0 3 1.0
i R
1w/ 2okt PRE R 1 wmsE/mm K

1.0 1 2.0

0.0 0 0.0

1.0 1 2.0
AthliE BRI
1w/ 2okt EEE R 1 wmsE/mm K

0.0 0 0.0

0.0 0 0.0

0.0 0 0.0
B PR
LRESRE/ 2kakE PRAE R 1 wmsE/maEK

0.0 0 0.0

0.0 0 0.0

0.0 0 0.0



REEEERBREN  —BITE
LA g ] L kERER ] L R RE ke ka1 RERE] 2 ek 2 kR BRE] 2 wakk itk ] 2 IRA kR [ame 1 news
B 15 13 86. 7% 9 69. 2% 9 100. 0% 4 44, 4% 30. 8%
s 8 4 50. 0% 2 50. 0% 2 100. 0% 1 50. 0% 25. 0%
it 23 17 73. 9% 11 64. 7% 11 100. 0% 5 45. 5% 29. 4%
REERBRIH TR
1EAE S| 1 s 1 IR BRR | IRERE IR 1 AR 2 kselpt itk | 2 IRZ TR 2 ke E ik | 2 IRE R R [atn/ 1 vozmn
B 1 1 100. 0% 1 100. 0% 1 100. 0% 1 100. 0%  100. 0%
4 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
&t 1 1 100. 0% 1 100. 0% 1 100. 0% 1 100. 0%~ 100. 0%
I SEE R P CRAERT
LiaE s ] L wEBE k] L kg RE ke a1 kA E] 2 emnak] 2 ki BRE] 2 wakk itk ] 2 Ak R [amn  nawes
Pzl 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
4 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
it 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
FEk  EERE
LA E S | Loz 1 Bk a ks i1 kaR R 2 ranEk] 2 BRE[2 kaks k] 2 Ak R [ans 1 nzns
Pzl 2 2 100. 0% 2 100. 0% 2 100. 0% 1 50. 0% 50. 0%
S 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
Bl 2 2 100. 0% 2 100. 0% 2 100. 0% 1 50. 0% 50. 0%
T B E
LRHUASEM | L REBREE 1 IR BR | IREHEER | 1 IREH | 2 REBRE | 2 IR BE| 2 REKHE K| 2 IREAE S | ah/ 1 wzns
5 3 3 100. 0% 3 100. 0% 3 100. 0% 1 33. 3% 33. 3%
S 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
Bl 3 3 100. 0% 3 100. 0% 3 100. 0% 1 33. 3% 33. 3%

s BRRfE#
1/ 2 okt ERE R L wmmeE/mnE

3.3 5 2.6

4.0 2 2.0

3.4 7 2.4
BT R BRARE R
1wEmE/ 2okt ERE R 1 wmsE/mna K

1.0 1 1.0

0.0 0 0.0

1.0 1 1.0
AR R
1w/ 2okt PRE R 1 wmsE/mm K

0.0 0 0.0

0.0 0 0.0

0.0 0 0.0
e BRI
1w/ 2okt EEE R 1 wmsE/mm K

2.0 1 2.0

0.0 0 0.0

2.0 1 2.0
B PR
LRESRE/ 2kakE PRAE R 1 wmsE/maEK

3.0 1 3.0

0.0 0 0.0

3.0 1 3.0



(/b _BtY KEZFZBEHER
I REAER 1 RZREY 1 RZBRE IROEESR | L REBE2RZREL ZRZRE | 2 kABER | 2 IREEE [ons/1uans
B 22 17 77.3% 15 88. 2% 13 86. 7% 9 69. 2% 52. 9%
E's 19 13 68. 4% 10 76. 9% 10 100. 0% 10 100. 0% 76. 9%
gt 41 30 73. 2% 25 83. 3% 23 92. 0% 19 82. 6% 63. 3%
(b _B) EEFEREEEESR
I REAESR 1 RZREY 1 RZBRE IROEESR | L REBE | 2RZREL | ZRZRE | 2 kABER | 2 IREBE [ons/ 1uzns
B 27 24 88. 9% 12 50. 0% 11 91. 7% 5 45. 5% 20. 8%
E's 6 3 50. 0% 2 66. 7% 1 50. 0% 1 100. 0% 33. 3%
gt 33 27 81. 8% 14 51. 9% 12 85. 7% 6 50. 0% 22. 2%
(/B ERAEFEGER
1 REAESR| L RZRELE 1 RZBRE IRARER | 1 REBR | 2REZRER | 2IRZTHRE | 2 kREBER | 2 IREKEE [one/ 1 uens
B 3 2 66. 7% 2 100. 0% 2 100. 0% 2 0. 0% 0. 0%
7 15 13 86. 7% 12 92. 3% 12 100. 0% 10 83. 3% 76. 9%
2 18 15 83. 3% 14 93. 3% 14 100. 0% 12 85. 7% 80. 0%
(/h_E) EBERMLEEEBRELHAER
1 REAESR| L RZRESE 1 RZBRE IRARER | 1 REBR | 2REZRER | 2IRZTHRE | 2 kREBER | 2 IREEE [ane/ 1uzns
B 16 14 87. 5% 10 71. 4% 10 100. 0% 5 50. 0% 35. 7%
7 8 4 50. 0% 2 50. 0% 2 100. 0% 1 50. 0% 25. 0%
2 24 18 75. 0% 12 66. 7% 12 100. 0% 6 50. 0% 33. 3%
(/b _Bt) HeeHBEHAER
1 REGAER| L RZREE| 1 RZBRE IRAEER | 1 REBR | 2RZREER | 2IRZTRE | 2 kRABER | 2 IREIRE [ane/ 1 uzns
B 5 5 100. 0% 5 100. 0% 5 100. 0% 2 40. 0% 40. 0%
LS 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
2 5 5 100. 0% 5 100. 0% 5 100. 0% 2 40. 0% 40. 0%
(&_&b
1REAER| 1 REBRES 1 RZRBIRARER | 1 REOBER | 2REBRER | 2IRZHRE | 2 KaREK 2 REWKE | ane/ 1nzns
5B 73 62 84. 9% 44 71. 0% 41 93. 2% 23 56. 1% 37. 1%
L 48 33 68. 8% 26 78. 8% 25 96. 2% 22 88. 0% 66. 7%
&t 121 95 78. 5% 70 73. 7% 66 94. 3% 45 68. 2% 47. 4%

=R BHRfGR
1h2RE/ 2KekE BRAEK 1x2ns/RALK
1.9 7 2.4
1.3 8 1.6
1.6 15 2.0
=R BHRfGR
1kERE/ 2KekE FRAE 1x2hE/RAEK
4.8 4 6.0
3.0 0 0.0
4.5 4 6.8
=R FH/GR
1 RERE/ 2%AakE FRAER 1xzns/RAEEK
1.0 1 2.0
1.3 9 1.4
1.3 10 1.5
=R FH/GR
L RERE/ 2AakE FRAER 1xens/REK
2.8 6 2.3
4.0 2 2.0
3.0 8 2.3
=R THfg=R
1R2RE/ 2xekE RAER 1x2ns/matk
2.5 2 2.5
0.0 0 0.0
2.5 2 2.5
(RS THRfgR
1R2RE/ 2Re4E IRAEE 1x2es/2atk
2.7 20 3.1
1.5 19 1.7
2.1 39 2.4

KEEEHB LOBEMELRIZSOWT, SRBITITMREREZZTATHRVOIZH L, RAZITEHREORMAFRRICE b2 -T
MREWEZTRM LI, MEFRLTLE L EE A,



